
BLACK & CHROME MACH 2 AIR CLEANER  9514 

Page 1 

THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN CAN 
RESULT IN POTENTIAL DEATH OR SERIOUS INJURY. 

This indication alerts you to the fact that ignoring the contents described herein can result in minor or moderate 
potential injury. 

This indication alerts you to the fact that ignoring the contents described herein may negatively affect product per-
formance and functionality or damage the product itself or the product to which it is being attached. 

STEP 1 Read and understand all steps in the instructions before starting the installation. Park the mo-
torcycle on a hard, level surface and turn IGN OFF. Allow the engine and exhaust system to 
cool. Remove the main fuse. 

 

STEP 2 Prepare a soft, sturdy work surface within arm’s reach of the motorcycle. 

 

STEP 3 The two (2) included 1/8" Straight Fittings thread into the Backing Plate as shown in PIC 1. 

ENSURE THAT THE FOLLOWING PARTS HAVE BEEN INCLUDED IN THE KIT: 

1 Mach 2 Air Cleaner 
1 Hardware Kit Containing: 
 5 1/4”-20 x 3/4" Chrome Socket Head Cap Screws 
 3 1/4”-20 x 1" Socket Head Cap Screws 
 3 1/4”-20 x 1-1/4" Socket Head Cap Screws 
1 Hardware Kit Containing: 
 1 Air Lock Ring 
 2 1/8" Straight Hose Fittings 
 1 Mach 2 Ring Adapter 
1 Dual Velocity Ring 
1 Filter Element 
1 Installation Instructions 

 

YOU WILL ALSO NEED: 
Set of Hex Wrenches 

These installation instructions contain important information. Ensure that the end user receives this copy and is 
aware of its importance for future use. 

THE END USER’S SAFETY DEPENDS UPON PROPER INSTALLATION OF THIS PRODUCT. IF A STEP IN 
THESE INSTRUCTIONS IS NOT WITHIN YOUR CAPABILITIES OR YOU DO NOT HAVE THE CORRECT 
TOOLS, HAVE YOUR DEALER PERFORM THE PROCEDURE. IMPROPER INSTALLATION OF THIS 
PRODUCT COULD RESULT IN DEATH OR SERIOUS INJURY. 

ACCIDENTAL VEHICLE START-UP COULD CAUSE DEATH OR SERI-
OUS INJURY, REMOVE THE MAIN FUSE BEFORE PROCEEDING. 

9514-12MC-0715 

Thank You For Choosing Küryakyn! 

Protect yourself and others from potential injury and property damage or loss. Pay close attention to all instructions, warnings, cautions, and notices 
regarding the installation, use, and care of this product. 

PIC 1 

STRAIGHT FITTINGS 

BACKING PLATE 

THIS PRODUCT IS NOT LEGAL FOR SALE OR USE ON POLLUTION CONTROLLED VEHICLES. 



Page 2 

STEP 4 Refer to PIC 2. Locate the included Air Lock Ring; align it with the throttle body/carb flange as shown in PIC 2; note that some applica-
tions require a support bracket 
 
Sandwich the Ring against the flange with the Backing Plate assembly. 

STEP 5 Align the holes and secure the Backing Plate to the throttle body/carb with the three 
included Screws; tighten the Screws. 

STEP 6 Refer to PIC 3. Locate the included Dual Velocity Ring. 
 
Position the vent hole at 10 o’clock and press the Ring into place. Ensure that the ring is 
pressed in flush with the Backing Plate; it should “snap” into place. 

STEP 7 Locate the included Mach 2 Air Cleaner Cover, Filter Element and five (5) 1/4-20 x 3/4" 
Socket Head Cap Screws; set it all within arm’s reach of the work area. 
 
Install the Filter Element over the Backing Plate. 

STEP 8 Secure the Cover to the Backing Plate using the 3/4” Screws. 
 
Tighten the five screws in an alternating pattern. 

STEP 9 Reinstall the main fuse. Double check all hose connections. Rotate the throttle open; en-
sure it returns correctly before starting the motorcycle. 

STEP 10 Refer to the adhesive NOTICE on PAGE 3. Refer to PIC 4. Ensure that the center sec-
tion of the Cover is clean and free of grease, oil, and debris. Locate the desired Em-
blem. Rub the adhesive backing to activate the adhesive. Remove and discard the ad-
hesive backing. Align the Emblem and press it into place for at lease 60 seconds. Full 
bond will occur after 24 hours. 

 

 

 

MACH 2 WITH MEDALLION: 

 

 

STEP 11 Follow STEPS 1 through 6. 

 

STEP 12 Refer to PIC 5. Remove the screen; set it aside for now. Remove the five (5) small 
screws from the backside of the Mach 2 Cover; the screws are very small, do not lose 
them. 
 

Refer to PIC 6. Remove the center star section and the five (5) "L" shaped inserts. 

 

STEP 13 As shown in PIC 7, Align the Mach 2 Ring Adapter with the front 
side of the Cover; secure using the five (5) small screws from the 
backside. 

 

STEP 14 Install the screen inside the Mach 2 Cover; place the cover over 
the Filter Element. 

 

PIC 2 SUPPORT BRACKET BREATHER 
BOLT 

AIR 
LOCK 
RING 

DUAL VELOCITY RING 

VENT AT 10 O’CLOCK PIC 3 

PIC 6 

PIC 5 

PIC 7 

ATTACH EMBLEM HERE 

PIC 4 



Page 3 

STEP 15 Align the cover with the Backing Plate; secure using the five (5) included 1/4”-20 x 3/4" Socket Head Cap Screws. Tighten the five (5) 
screws in an alternating pattern. 

 

 

 

 

 

STEP 16 Using soap and water, clean the installation area. Allow to dry. Wipe the area with an ammonia-based cleaner and allow it to dry 
completely 

STEP 17 Remove and discard the adhesive backing from the medallion. Position the medallion as desired; press and hold in place on the Ring 
Adapter for one minute. Full bonding strength will occur in 24 hours. 

It is the end user’s responsibility to ensure that all fasteners (including pre-assembled) are tightened before 
operation of the motorcycle. Kuryakyn will not provide warranty coverage on products or components lost or 
damaged due to improper installation or lack of maintenance. Periodic inspection and maintenance are 
required on all fasteners. 

Ensure proper adhesion of this product. Remove all grease, oil, bugs, dirt, and other debris (including wax and 
polish) from the installation area. Kuryakyn will not provide warranty coverage on products or components lost or 
damaged due to improper installation. 

Do not attempt this installation in temperatures below 50°F (10°C). Proper adhesive bonding ONLY occurs above 
50°F (10°C). 

Follow K&N recommendations for proper use and cleaning of the air filter element. 

K&N Filter Care Kit (p/n 85 available at kuryakyn.com) 

Proper tuning is important. Fuel injected bikes should be tuned with a TTS MasterTune tuning system (calibrations available at 
www.kuryakyn.com) or Vance & Hines FP3 (calibrations available at http://fp3.vanceandhines.com/download) by an experienced tuner, on a 
dyno, with an exhaust gas analyzer. 


